G3-Md-lLesson S

1. Use the grid to answer the questions below.

3 units 3 units

% units 5 units

i can draw a line between the
3t and 4" columns to make 2
equal rectangtes.

a. Draw a line to divide the grid into 2 equal rectangles. Shade in 1 of the rectangles that you created.

{ can count the units on each

b. Label the side lengths of each rectangle. ' side to help me label the
side lengths of each
rectangle.

c. Write an equation to show the total area of the 2 rectangles.

Areg= (X3 +{5x3)
=315+ 15
= 30

| can find the area of each smaller
rectangle by multiplying 5 X 3. Then, |
can add the areas of the 2 equal
rectangles to find the total area.

The total oreo is 30 square units.
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2. Phoebe cuts out the 2 equal rectangles from Problem 1{a) and puts the two shorter sides together.

a. Draw Phoebe’s new rectangle, and labe! the side lengths below.

10 units

3 units

I can label the side fengths using what | know about the 2 equal
rectangles in Problem 1. The length of this rectangle is 10 units
because 5 units + 5 units = 10 units.

b. Find the total area of the new, longer rectangle,

Area = ;}X 10 :i I can find the area by multiplying the side iengths. }

The totof areg is 30 sguare units,

€. Isthe area of the new, longer rectangle equal to the total.area in Problem 1{c)?
Explain why or why not.

Yes, the orea of the new, longer rectangle is equol to the total arep in Probiem 1{c). Phoebe just
rearranged the 2 smuafler, eguel rectangles, so the totel areo didn’t chonge.

t know that the total area doesn’t change just because
the 2 equal rectangles were moved around to form a
new, longer rectangle. No units were taken away and
none were added, so the area stays the same,
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